Math343 Quiz 10 Nov 4, 2022

Name: Sé[m

Directions: Show all work. No credit for answers without work.

1. [2 parts, 2 points each] Find a the characteristic polynomial and eigenvalues of the matrices

below.
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2. [2 points] Find a basis for the eignespace associated with eigenvalue A = 2 for the matrix
given below.
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3. [2 points| Let f(\) be the characteristic polynomial of the n x n matrix A, and let h be a
scalar. Find the characteristic polynomial of the matrix A + A/ in terms of f

Char. Py 9 kAT« QA(fhrhT) - NT) = det (A + (NT)

At A - O-WT) = dd(A-4T) = fle) e E=Ah
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4. [2 points] Is there an n X n matrix A such that the eigenspace associated with eigenvalue
A =3 is all of R"? Either give an example or explain why not.
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